=
<

g 5
= 8
o o
5 5107
107
1072
o .9105%_....!....!....!....!....!....
IS IS r : | t t :
14 14 r
1 ; 1_— -------- Dot - - . - I
%3 = 1 0 1 2 3 993 = 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable3
= £
2 )
> =
> S
5 S
107
.910\—1%_....!....!....!....!....!.... .910\—1%
% r N | 3 3 N g
o C o
1_— -------- bed- - . 4 444. Y 1}
0983~ 0 1 2 3 092
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1
o
-
o
o
B

TP n (PCA to beamline)



	Contents
	Page 1


